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o FUT AT F T [ 57 FeT-U7 4 FRa g 15 T F97 34 &)
Please make sure that the printed pages in this question paper are 15 in number
and it contains 34 questions.

o Jo7-7¥ H T &y @ G RF 78 FS T T A F O FI-YRaw & FEI-g8 @
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H FAV TG Y& V7§ Yeer, J9T B B AT [T

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel T o SEvIRagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
frd sife dafeys 7971 & TR T Frdll T T 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U g7 % FUT 37 @ Y4 I Ghaa # @ [ 9777 {7 7 @@ & Yher 3 U 54
T 7 g 4 qar w&hHe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :
() @ g7 IEart &

All questions are compulsory.

(i) 5 79797 7 Z7 34 Fo7 & A AW GOS] - o § G TH T E -

This question paper consists of 34 questions in all which are divided into

four Sections A, B, Cand D :

GE -9 57 GC 71 G 16 T 7 16 97 &, % 597 1 7% & &1
Section - A : There are 16 questions from 1 to 16, each of 1 mark.

G- §: 359 % F17 722 7% 37 6 J97 &, J9% J97 2 9% # &I
Section - B : There are 6 questions from 17 to 22, each of 2 marks.
G -39 @< 723 T30 7% F7 8 J97 &, 9% J97 4 5% F &1

Section - C : There are 8 questions from 23 to 30, each of 4 marks.
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%€ - 757 G 431 @34 7% T 4 97 &, J9% F97 5 5 F &l

Section — D : There are 4 questions from 31 to 34, each of 5 marks.
(i) G- 7 & go7 7 ofani® fawey /7 79 81 37 @ & 597 B g &

Section - D contains two questions where internal choice have been
provided. You have to choose one of them.

gug — 3
SECTION - A
1. f=fafad & § s9-d1 9= Ray 78 § ? 1
(a) 25 B) 23
(C) 36 (D) 2.40

Which of the following is not a rational number ?

(&) 25 B) 23
(C) 36 (D) 2.40
2. /=1 & H-a1 g faua ® 7 1

(A) (x—2) (x+ 1) = (x— 1) (x+ 3)
(B) 4x?+5=2x+7)>

(C) (x+1)? =2(x-3)

(D) (x+4)3 =3x(x+1)
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Which of the following is a quadratic equation ?
(A) (x=2) (x+ 1) =(x=1) (x+3)

(B) 4x2+5=(2x+7)>

(©) (x+1)? =2(x-3)

(D) (x+4)° =3x(x+1)

3. A.P.7,13, 109, ..... & 1041 0§ ® : 1
A) 61 (B) 63
(C) 65 (D) 67

The 10th term of the A. P. 7, 13, 19, ..... is :

(A) 61 (B) 63
(C) 65 (D) 67
4. T[GRE x> -2x-8 & LI & : 1
@A) (2, -4 (B) (2,4)
©€) 2,4 (D) (4, 2)

The Zeroes of Polynomial x?-2x-8 are:

(A) (2, -4) (B) (2,4)

© 2,4 (D) (4, 2)
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5. 3% 54 31X 336 F H.C.F. 68, @l S L. C. M. & : 1
(A) 3021 (B) 3022
(C) 3023 (D) 3024

If H. C. F. of 54 and 336 is 6, then their L. C. M. is :

(&) 3021 (B) 3022
(C) 3023 (D) 3024

6. aH THHTN & JH x— 2y + 5= 0T 3x— 6y + 10 = 0 & &7 & : 1
(A) offada T & (B) FE & &
(C) TR % & (D) & § Fig &

Solution of a pair of linear equations x— 2y + 5 =0 and 3x—- 6y + 10 = 0 will be :

(A) Unique solution (B) No solution
(C) Infinitely many solutions (D) None of these
7. 7sec’ A-T7tan’ A F 9N ? : 1
(A) 1 (B) 2
€ 5 (D) 7

The value of 7sec2 A-7 tan2 A is:
(A) 1 B) 2

€ 5 (D) 7
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8. I U1 IEH WIREN % IS &g & ... Fed

The common point of a tangent to a circle and the circle is called ............. .

9. PBrear 2.8 T A a1y & N F TSH %A © ¢
(A) 98.98 (B) 97.56 a4

(C) 98.56 I (D) 98.38 A

Surface area of sphere of radius 2.8 cm is :
(A) 98.98 cm? (B) 97.56 cm?

(C) 98.56 cm? (D) 98.38 cm?

10. 0 IV I ProUEvE % GG 99 B T8 8

nr 0 nr O
A 3600 B T8o°
() ?’;:)9 (D) T & Fig e

Length of an arc of a sector of angle 0 is :

nr 0 nr 0

(A) . (B) .
360 180

(@) 2nr 6 (D) None of these
180°
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11. I fFelt A. P. & X R 74T U8 shHST: 5 X O ¥, o 39 1147 U8 2 ¢ 1
A) 16 (B) 15
(C) 14 (D) 13

If 3rd and 7th term of an A. P. are 5 and 9 respectively, then its 11th term is :

(A) 16 (B) 15
(C) 14 (D) 13
12. F ¥ DE ||BCBI AD %l T8 1T Hiom| A 1

/\1.8@1?[
& £
7y/ \3.4%
B C

In figure DE || BC. Find the length of AD.

A
1.8 cm
D E
72c¢ 5.4 cm
B C

13. IR & g P& O 3= 9 f5l 99 W PA iR PB W@ WER 60° & HT W FH

g, @ ZPOA I & : 1
(A) 120° (B) 60°
(C) S0° (D) 70°
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If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 60°, then ZPOA is equal to :

(A) 120° (B) 60°

(C) S0° (D) 70°

14. % 3 quEd B B @ GO 40 9 % AN H 21 7 B[S & &F%a P UK &
1

(A) 16:81 B) 2:3

€ 4:9 (D) 81:16

If corresponding sides of two similar triangles are in the ratio 4 : 9, then ratio of
their areas is :

(A) 16:81 (B) 2:3
(C) 4:9 (D) 81:16
15. fogaft (3, 1) 3R (8,6)% d= ® g ¢ : 1
A) 242 B) 32
(C) 42 (D) 52
The distance between the points (3, 1) and (8, 6) is :
(a) 242 B) 342
(©) 42 D) 542
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16. 39 fig & Fewis s fagadl (4, —1) @0 (-2, -3) H SSH an @IS & AlD &7 4§
1:2% agua § faefoa & &, @ 1

v (39 0 (39

5 S
@ [2-3) o [-2-3)

The coordinates of the point which divides the line segment joining the points
(4, -1) and (-2, -3) in the ratio 1 : 2 internally are :

v (39 o (39

gug -9

SECTION - B

17. 3T 5 4++/5 TH STURAT HE B 2

Show that 4++/5 is an irrational number.
18.@@%@3%%%@@%%@@%%@&@?%% 2

Find the quadratic polynomial, the sum and product of whose zeroes are

J2 and% respectively.
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19. 52 T %l T YR Bl T Th O Bl TSl § & Th U el Sl 3| q&LAE el ol
T & &l MRl A it 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a king card.

20. k% g A9 & foe fEEa @@ 262 +kx+3=0 & I9 aXER & 7 2
For what value of k the roots of the quadratic equation 2x2 +kx+3=0 are
equal ?

21. p & 8 AW & fo Frefoied W Tl & 39 &1 3 &7 787 & 7 2

3x+y=1

Cp-1)x+(p-1y=2p+1

For what value of p will the following pair of linear equations have no solution ?
3x+y=1
Rp-1)x+(p-1y=2p+1

22, WG AT NTHIAD o= 4 584 g WE, g0 & W@ A d9% 4 49 21 gq 6l
Brear s i 2

The length of a tangent from a point A at a distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.
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23.

24.

25.

(11) 103/(Set : D)
e - g

SECTION -C

AN 3t arell fhae gt 5 F foueg § ? 4

How many three digit numbers are divisible by 5 ?

TF I H 3 A AN 5 FH S ¢l 30 A4 F F TH AT AGHAT BT ST &1 TR FA

iRt & % g 4
() o,
(ii) < el e 7

A box contain 3 red balls and 5 black balls. A ball is drawn at random from the

bag. What is the probability that the ball drawn is :

(i) red,

(i) notred?

10 7 B 9 T 99 B A SEl B G 60° H BT RN 31 W UGS H TG
S it 4

A chord of a circle of radius 10 cm subtends an angle of 60° at the centre. Find
the area of the corresponding sector.
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26.

27.

28.

29.

(12) 103/(Set : D)
IR e AT F I eI qm e A d 1 90 @ T 1 & 980 a6l 81 IR & F Fad

mga,aws%awﬁ%mmamaam 4

If we add 1 to the numerator and subtract 1 from the denominator, a fraction

reduces to 1. It becomes % if we only add 1 to denominator. Find the fraction.

=T ferre EHIeRoT & el @l Sl S B IR g g9 B, A & Al hioid 4
9x% —6x+1=0

Find the nature of roots of the following quadratic equation. If real root possible,

then solve it :

9x2 —6x+1=0

18 M &F UF FHER T F SO0 MR § F IR H Th [ J31 goTl & T aR & gad
R o G2 & e g1 21 EH B R ¥ G A e g W Ml WY 6 a) o @
STefh O & dE 24 H B 4

A wire attached to a vertical pole of height 18 m is 24 m long and has a stake
attached to the other end. How far from the base of the pole should the stake be

driven so that wire will be taut ?
x & A T B, AR /g A7, -2), B(5, 1) 3R O3, x) @ B 4

Find the value of x, if the points A(7, —2), B(5, 1) and C(3, x) are collinear.
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30. IR A, BAR CRYS ABC & a1 @), o fResy F : 4

(A + Bj . C

cos =sin—

2 2
If A, Band C are interior angles of a triangle ABC, then show that :

(A + Bj . C

cos =sin—

2 2

qls -
SECTION -D

31. T H Th HYA T o & AHR B ol Foresdh a1 B T Th-Uh AN 1 8T &1 R
$HA B dar 14 Bl & oIk SEa & 5 el 31 S O &6 S St 5

A medicine capsule is in the shape of a cylinder with two hemisphere struck to
each of its ends. The length of entire capsule is 14 mm and diameters of the

capsule is 5 mm. Find its surface area.

YqT

OR

Bregr 3.5 A4l A o1 & TF Mol H e Begr 5 8l ad T 9o & ®9 F S S
B I H SAR T BT

A metallic sphere of radius 3.5 cm is melted and recast into the shape of a

cylinder of radius 5 cm. Find the height of the cylinder.
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32.

33.

34.

(14) 103/(Set : D)
Frefefed @l fell die & 25 9RERT § A5 W gU 3% @g & a9 ol \eH W)

g3 e Y §I FioT 5
3 = (Bwr H) 100-150 | 150-200 | 200-250 | 250-300 | 300-350
uRart = e 4 5 12 2 2

The table below shows the daily expenditure on food of 25 households in a

locality. Find mean daily expenditure on food :

Daily Expenditure (in %) 100-150 | 150-200 | 200-250 | 250-300 | 300-350

Number of Households 4 5 12 2 2

5 Gl Brear &1 T g9 St 91 & 4 9 A9 ¥ Rud 0 fag | g9 W wmsiEr g @l
T HIT T I T=ar A 5

Draw a circle of radius 5 cm. From a point 9 cm away from its centre, construct

the pair of tangents to the circle and measure their lengths.

8 o A Mo » REX q U Bad FaX & REY H IAT HI 45° & I 36D UG H
T BT F 45° 31 AT B HAR G B 5

From the top of a 8 m high building, the angle of elevation of the top of a cable
tower is 45° and the angle of depression of its foot is also 45°. Determine the

height of the tower.
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HAYAT
OR
Rz it
1/% =secA+tanA
Prove that :

1/M =secA+tanA
1-sinA
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